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<BEEEICEHNRFT >
SHBIA 4,757 0 0 0 0 0 4,757 0 4,757
HFHEWA 300 0 0 1 100 97 498 0 498
BESRMBSRA 19,823 4,205 0 0 25 0 24,053 0 24,053
RESIRA 19,907 0 54 19,527 0 0 39,488 0 39,488
BEEZERA 0 0 0 0 0 270 270 0 270
BERA 1,667 0 0 0 0 0 1667 0 1,667
NHRERTRIRA 0 0 13,944 68,446 0 0 82,390 0 82,390
MEREBRWA 0 0 0 [} 1,540 0 1,540 0 1,540
EERIY—CAETERA 0 0 4,380 3,900 23,850 0 32,130 0 32.130
SWFBSEARIIRA 16 0 3 10 0 1 30 0 30
FDH{DIRA 52 0 2 109 1 0 164 0 164
ERIFREBRAG() 46,522 4,205 18,383 91,993 25516 368 186,987 0 186,987
NEBRH 39,473 0 16,350 69,320 16,681 0 141,824 0 141,824
ERETH 4522 0 114 11,919 984 0 17,539 0 17,539
BHEBEIH 15,769 0 1,035 15,443 1591 7 33,845 0 33,845
IRBIEE T 0 0 0 0 1,540 0 1,540 0 1540
BHEZES N 0 0 0 0 0 400 400 0 400
ARESRNSEEE 0 4,205 0 0 0 0 4,205 0 4,205
BEERH 3,270 0 0 0 0 418 3,688 0 3,688
HBEETEESIL2EERELHE 0 0 0 1 0 0 1 0 1
BRIREISTHEN?) 63,034 4,205 17499 96,683 20,796 825 203,042 0 203,042
BRFHMESIRTEEHG@)=(1)-(2) A16512 0 884 A4,690 4,720 A457 A 16,065 0 A16,055
<MERBHECLINE>
R ESRARG 0 0 0 0 0 0 0 0 0
BREERESH 2,120 0 423 2,716 1,500 0 6,759 0 6,759
R BS R HEEG) 2,120 0 423 2,716 1,500 0 6,759 0 6,759
SRS INTER6)=(4)-(5) A2120 0 A423 A2,716 A1500 0 A6,759 0 6,759
<FDRDEENS LD >
R EEIHIRA 2,020 0 i 0 0 0 2,021 0 2.021
HEXSRBAZEA 8,081 0 0 0 0 0 8,081 0 8,081
RARSRHBASRA 5,000 0 0 0 0 0 5,000 0 5,000
H—E 2R SHEEBARIRA 6,495 0 0 2,500 0 0 8,995 0 8,995
F DD FEBURAET) 21,596 0 1 2,500 0 0 24,007 0 24,097
A BERH 475 0 1 10 380 0 866 0 866
HARSHBASTH 0 0 1,000 1,000 3,000 0 5,000 0 5,000
H—EFARSEEASIH 6,495 0 0 2,500 0 0 8,995 0 8,995
<FOMOFEBICLDRFE >
FRHMDERIC LD X H 0 9,153 0 0 0 0 9,153 0 9,153
7DD ED) ST EHE) 6,970 9,153 1,001 3510 3,380 0 24,014 0 24,014
FOHOFER ST ZEA(9)=(1)-(8) 14,626 A9,153 A 1,000 AT,010 A3,380 0 83 0 a3
FHBAIHA0) 300 0 0 500 500 150 1,450 0 1,450
LRSI EE AR D=(3)+(6)+(9)-(10) A4,306 A9,153 A539 AB916 A660 A607 A24,181 0 A24,181
R ILREERE2) 6.662 9,153 8,880 28,847 12,307 7,806 73,655 0 73,655
LHIRFIEEREQ)=011)+(12) 2,356 0 8,341 19,931 11,647 7,199 49,474 0 49,474




